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program banefuriko;

var

m,k,t,v,x,tmax,dt: real;
begin

write('t=? '); readIn(tmax);

dt:=0.001;
-m:=1.0; k:=1.0;
| 1=0.0; vi=0.0; x:=1.0;

“while t<tmax do
begin

t:=t+dt;
X:=x+v*dt;
vi=v-k*x/m*dt;
end;

“writeln('x(t)=',x:8:4);
writeln('v(t)=',v:8:4);
end.
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program gensui;

var

m, k,t,v,x,tmax,dt,alpha: real;
begin

write('t=? '); readIn(tmax);
dt:=0.001; alpha:=0.5;
el 0 k=10

£:=0.0; vi=0.0; x:=1.0;
while t<tmax do

begin

t:=t+dt;

x:=x+v*dt;
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writeln('x(t)=',x:8:4);
writeln('v(t)=',v:8:4);
end.
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